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The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

Ty G S PRI R
(a) Fill in the blanks with appropriate word /

words : ! 1x5=5
Boige =9 =R QAT I AT T ¢
(i) As per section ....... a person by whom

any tax or any other sum of money is
payable under the Income Tax Act is
known as assessee.

I &S ... QI SRR o JiEw
T (I T LA S (I 5B <2 SN2
e el A, (o Jfew Fmrel @
Sl [ | :
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- (ii) Salary is taxable on due or recelpt basis
whichever is ....... ;

v, SfEsnE A afes Sigke R
...... 7, I = | :

(iii) Rate of statutory deduction in case of

income from house property is ....... :

ﬁwﬁwwﬁfﬁﬂwmﬁﬁ
2 ... | '

(iv) Section 54 provides exemption to capital
gains arising from the transfer of a .....
house property.

0 ﬁmﬁawwm%@
SIS A i 54 (92123 I il ez

(v) Interest received by an employee on his
own contribution to unrecognised
provident fund is taxable under the
head ...... ; ‘

SHIge oY efSTet FWS BIRIEER
e T9edT 8ogs (AR S ... Frowe
AT | '
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(b) State Whether the statement is true or false :

0

W“mwa:f@mww

3

Bf “

1x5=5

(!} An Indian citizen is always considered

a8 resident and ordinarily resident in
India. |

W ST AsfRe W ey I
Wil e AfE fZpicst step B =

(1) Perquisites cannot be given in monetary
- form. '

Perquisites bpla sepes fwal =1 T

(1ii) The highest rate of personal income tax
as per the Income Tax Act is 30%.

LIEESBRIECE B SIS SIS0 vmw

e WY 2o 30 *roiga |

(iv) An asset (except shares and debentures)
is termed as short term capital asset if
it is held for 36 months.

B! ST9i1G 36 T WTES Wmﬁa
eI AN I 9ty N = | (SeHleig B
g Qi ) |
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(v) Cash in hand in excess of Rs. 20,000 in
case of individual are to be considered
as an asset for determining net wealth.

N2t fe uﬂwrmﬁw 20,000
oo @R AR wm Fife ﬁ&nzrvt
FRAesT Roan =11 =7 | |

(¢) Define assets under the Wealth Tax Act.
FG o9 @izeg wgTe TGS it fia

(d) Write the meaning of ‘Total Income’ as per
Income Tax Act.

ST Wi SRR TS Wy o

(e) Sta.te two expenses which are admissible ‘|
while computing taxable profit of a business. \‘7

2. Write short answers to the following in about |
50 words each : : 2x5=10
g1 5051 =g fouae Nrwe AfSh! amT 53 Te]
ot ¢ ‘

(a) An assessee commences his ‘business on : |
(i) 1st July, 2014 and (ii) 16th January, 2014.
In each case, what will be his assessment
year and what period will be treated as his
previous year for the concerned assessment
“year ? :

qe ] W@m (967 P NS
FRezs (i) 1 5%, 2014 5= (ii) 16 S,
2014 | 2AfSth SRE® (9€y 9 [N =T &
27 i Aif e 9 Fefiwed 389 i Rore a1
fam & 292

mﬂmmmarﬁcﬁwwﬁmﬁw |
TRy <99 R S S T

3. Describe brieﬂy any four of the following : .

‘ 5x4=20

weTe AT R I sifiem oy R @ e 1 |

(a) State the procedure of filing of return by an
individual assessee.

aﬂ@rﬂ%ﬁﬁwﬁ'aﬂf@mw%ﬁma
TR &S Tmd |

(b) State the consequences of not deducting tax
at source as per the provisions of Income Tax

(b) When is an individual considered 'non-

~resident in India' for income tax purpose ? 5
TE qomE WEEE Soarh @R oo WWWW@@QWWWWW
b e 3 siRelfe Wt = ¢ TS Bea |
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(¢) What deductions are allowed while cbmputing ‘

income from house property ?

A A (2B =@ =

(d) Name any five allowances

exempted from tax upto the limit of actual
expenditure.

| ope R IR mwﬁ CPIC
A6RY 763 R Ty =41

(e) Give five examples of espenses / provisions

which are not allowed as deduction while

computing the profits and gams of business
or profession.

Wﬂﬁwmwﬁcﬁmrﬁ
IR ARAL ARy 45/ B

ICLES IR

() State the meaning of 'long-term capital gains'
and 'short-term capital gains'.

Wmmﬁw@mwﬂﬁzﬁw
T4 |

(g) Mention five items of ‘general income’ under |

the head ‘Income from other sources’.

T BPR ORI A SR ﬁﬁa—m

ARy g =y’ @‘cmwn
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which are

wer the 'f@llowmg questions :

sipnjE o s

) Kasturi Das is the owner of a house
property located at Guwahati. From thev
~ particulars given below compute the
income from house property for the
assessment year 2015-16.

Municipal value VOORS, 42’000,

Fair rent Rs. 45,000
Standard rent Rs. 44,0QO
Actual rent Rs. 4,400 p.m

Mu’nicipal‘ taxes levied Rs. 4,400

Expenses on. repairs “Rs. 6,000

Municipal taxes paid during the year— 50%
of tax levied. ,
FeR WM odEble o PR A GBR
Wfes | weTe SralRe [Ree o[/t 2015-16 9
fRfiaereS) 99 @ 9 I~ifes 719 (@A 9
EREAES

TR e 42,000 5
Riwm [ R @T 45,000 G

4 (Sem 3) DITX ) [Turn over




(i)

T ©rel 44,000 o

éw w-rﬁn 141981 wiids oge eR
IR ool TR 4,400 5

& 5,00,000 511 YEFRR P =
) - 1981-82 : 100; 1989-90 : 172;

4Ry 1 MR 9= 4,400 531 ‘15 1024,
W eARfS ¥ 6,000 S | B _"-lsmﬁtﬁa«m@mﬁmm@@w
IRoTS <o 412 91 CMafeem 799 50% ol e

ffee |

Mr. Bikash Bora purchased a house property
for Rs. 76,000 on September 30, 1976. In
1989-90 he spent Rs. 4,30,000 for

Or/=ig=t

The following are the incomes of Shree
Deepak for the previous year 2014-15 :

(i) Dividend from Indian

reconstruction of the house. The house company Rs. I0,000
- property was sold by Mr. Bora on June 15,88 (ii) Profit from business in ‘ '
2014 for Rs. 50,00,000 (expenses incurred on Japan received in India Rs. 1,20,000

transfer of house property was Rs. 35,000) ) Prof o b e

Fair market value of the property on 1. 4, Pakistan deposited in a
1981 is Rs. 5,00,000. Cost inflation index for bank there. This business
1981-82 : 100; 1989-90 : 172 ; 2014-15 : is controlled from India Rs. 2,00,000
1024. : (iv) Profit from business

. Compute the amount of capital gain for the in Mumbai (controlled

- assessment year 2015-16. 5+5=10" by London head office) Rs. 1,10,000
. KoM @Rt 30 e 1976 SR @51 (v) Income earned in America

TIf§ w3 FRRE | 1989-90 v7s (o¢ TG and received there, but

{2 s 2@ 4,30,000 B <=5 =11 15 o, brought in India , Rs. . 80,000
2014 wfRds . @R @R 9r Aol (vi) Income from house

'50,00,000 bt Rt IR e @3 Rat 9 property in India received ‘

: W RM c—\'ga 35,000 Bt ‘Qﬁb“ qu?gﬂ in America (computed) Rs. 62,000
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' (vi) Staefa o sifes
g I oAl (2Rl o RS

(vii) Interest on debentures

of an Indian company ’ ‘ ‘
received in Dubai “Rs. 25,0QQ e ol (Refio) S GO0, Bt
(viii) Capital gain on sale of ' (vil) SRS ¢ stolye o o 01 e
~agricultural land situated | _
at Ajmeer Rs. 48,000 GPRT T 9 M TR |
elle tefes 25,000 Gt

(viii) SRS ol FRESE
b f 7 @R

Compute his taxable income if he is

(a) resident, (b) not ordinarily resident,

(c) non-resident. 10 Rkl 48,000 o=l
2014-15 Rste T8 A AT AT SRR (R ;j: ;’:” fEfee &t A FRaep ="

wete Al 4 e s :
() SRSE @ A4 , |

AR FTSIRA 10,000 sl
(il) SFeTS odig (9¢F TAFT

JeEE o @dt s 1,20,000 51
(iii) AREITS TS A &

@ e Ol CZI?W

ol 2fes | @3 RN :

S ECREE I ISR 2,00,000 5=
(iv) Teize IR 29 R ‘
oS (qeTR YY) T

s RafEe) 1,10,000 T
(v) SICIRerS Solifefs =i

. oite AY SN SIS
Coilera| 80,000 Tt
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(2) B, (b) S5 i 72F, (¢) SRIB |

(b) Mr. Naidu, aged 58 is an employee of Public
Ltd. Co., Guwahati. As per terms of the
agreement with the company he received the
following :

Basic salary @ 30,000 p.m

Dearness allowance @ 12,000 p.m

Interim relief @ 5,000 p.m -

Family allowance @ 2,000 p.m ‘
Bonus for the year @ 20% on his basic salary
House rent allowance Rs. 4,000 p.m. (Rent
paid by him Rs. 5,000 pm)

Contribution to recogniséd Provident Fund @
10% of basic salary.
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During the previous year 2014-15, his
employer deducted Rs. 3,000 as professional
tax and income tax at source Rs. 6,000 p.m
from his salary. ‘

During the previous year, Mr. Naidu paid Rs
20,000 as life insurance premium on a policy

‘of Rs. 3,00,000 and deposited Rs. 40,000 in’

PPF Account.

Ascertain his income from salary for the

assessment year 2015-16 and also show the
net amount of tax payable by him. 10

e @ 7w 30,000 5
TR ST e 12,000 Gt
e SIS A=W 5,000 56
TR ~ARaE <=6 2,000 5t

| TR WA I R 20%

TR TS TG 4,000 5 (o€ m

Teiel fifes 5,000 o)
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- 201415 fere TeTe (96T RSz (oibise

i fasre m fit. MweE 3,00,000 5HN S A
e 21 20,000 S SR [ RN Fe
1% 40,000 5t #N1F 2fSTeS Few el fic |

2015-16 =1 it I @ (997 =N
oM @A S e w9 i (o f%aasﬁm @
EeIy Bpist (et

Or./ St
Write a note on the deductions available

under section 80C of the Income Tax Act for
the assessment year 2015-16. 10

2015-16 3 FLREFIT TJOR U@ I

@WSOCW%WWW@W
«aft GRet |

(¢) (i) What do you mean by Agricultural
Income under Income Tax Act, 1961 ?
AR Wigw, 1961 W qfﬁf IR S
i & oo
(ii) Explain the p.rocedure of 'Regular
assessment' under the Income Tax Act.

5+5=10
P WiEq Wee CRES 9 Wesids
oS i 1
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following are the pamculars of his 1ncom
etc. for the financial year endmg 31st March ;'

2015 ;

Pension from government Rs. 12,0_00 p-m

Salary from company Rs. 10,000 p.m

Furnished rent-free ‘house piovided by the

company at Cochin (Population 15 lakhs).

Cost of furnishing is Rs. 15,000.
Profit from business Rs. 35,000

Dividend from units of U.T.I (gross) Rs. 8,000

Interest on government securities Rs 3,500

Bank interest Rs 8,000

Capltal gain (short-term) on transfer of shares

Rs. 12,000.

He deposited Rs. 60 ,000 in 6 years fixed

deposit in S.B.I and Rs. 50,000 in the Public
Provident Fund.

Compute the total taxable income of Mr. A
for the assessment year 2015-16. 1

38/4 (Sem 3) DITX (14)

S bloeRY o SR g IR«
M biofe e @1 31 March,
: (#1140 SNR0IT

Sl (ol Cot SRR 12,000 B
o cotrar vl TR 10,000 B
| (@65 (@ifbTe (ePRA 15 a19)
Wi < T TR <R R O T
4 ,mwwwmgansooo ol | |
YRR AR @RI S 35,000 5
U.T.19 8R5S sencet (35) 8,000 5|
BRI AelsiES Sl CANIRT S 3,500 B |
Y o9 okl e 8,000 Tl |

Ci7d THGEE BNl (R g e o
12,000 5=t :

co¢ SBIT 6 Tl TN @ Rotors 60,000
5l W% SifFF AfSret wew 50,000 5 o
3| ' :

. Az 201516@%&1@#@@%%@
AT = e 71|
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(d) (i) When does the liability for payment of
advance tax arise ? How is it computed?

Ty N omee wity fon Sew =e
e @Eie e 9 =

(i) Discuss the use of 'PAN'. How can this
be procured as per the Income Tax Act ?
: 5+5=10
'PAN'T TRIT ST 91 | SRS SN2
SPIR WE (T AAT I W2
Or/91gd

What is net wealth ? How is it computed ?
Discuss. ' 10

T W%ﬁ?\m e Fefy w9 =2
SN A1
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